T

[]
L]

1m

1

L=69. 2m
L=3. 3m

P71.1

$=1:500
=] Eqmmﬁ_rm % 300mm)
L = j J ﬁ

] BIER L=T
D ZH\#&.E 300mm)
SHAEFE RIS=1 - Free
KERTAIMMRERENREHEL 242158, RUBRKBARBTELVVSARISEBRELHET LI L,

AR AT E X

S=1:50
RET T 5T
ERTELE EBHEE
1§82  W=5.0m BER #HE

BEBHETILY
TOP13 2. 35t/m3 (5% &t 4 B % )
PK3 1.26Y9kk/m2

BEMERERE RM-30
avhy-+ 18-8-25(20) F4F

avhy-+ 18-8-25(20) H4F
BEEM (H6 150x150)

? W —

FEEEE (RC-40)

L EHE (RC-40)

BEEM (46 150x150)

BRAFHEE29m L L3M4mEE
I$ % |[BHICSKERIRIE
# B | TER-RENER - SRR 1/3
- g | BE P
B E A BE|PE [mE|mH
K/HTEE R
7% 0 iy B 7 R 5% 0 il BR B AR




4.500
1/50

9. 500

9. 000

8.500

8.000

7.500

7.000

6. 500

6. 000

5. 500

5. 000

MIEZER L=71.1m

ARHEH300 45° F3H300 ARHEH300 AR#EH300 (L1000) 45° FAH300 ARHEH300
4.00m 4.12m 23.98m 4.12m 29.58m
RIERA. 83m 1. 00m 1.00m SREE K4, 83m
BU5 T 5 A%
3.30m
BEE N1 BHE N-6K
BRE N2 BiEE N2

(S

05
1/200 DL4. 000] ! v
N 2 I 2 A g =
7 il & 5 & : muq e s T S s
B
[T © ] 2 3 3 = 8 3 g 8 S
KR g 2 g & : B 3 ; - |
&
= e 8 2 3 2 8 2 8 2 o ] 2
BiERE= z b S d 2 2 = - S S S
o N < A © s < < < oz
5 = 2 g g 2 g g 8 g =g
= 7 BRES : £ g g : g g 8 L
p HE= 8 g 8 N 2 e = 3 g
: 7 HiERS : 2 s> ’ s z = z S S
o o ° ° w - ~ o o o © -
Al g 2 g 8 g 8 g g g g g

IB A |BHINSRERNRTS

B8 | 23
2| BE B

% X% EEl LR e

SR7FE |R

7 K h AR 77 3 S A 2R B R




1.50

P9.9

B AEAI#E B DA AI#E RIGITHHAIE
25£-8300-H300-L2000  L=57.56m 45° -B300-H300-L1210 L=9. 66m L=3.30m
1E#-8300-H300-L1000  L=2.00m

504 E 500 400 s F1500 500 400 s 600 500
00, 300 10 7 150, 300 150
n_; n_; o 24-8-25 P.w‘ﬁm_; MMME@ =400 @125 o
ad BAHE D13) N=3F >
= ¥
. Faw | e F— &
w w© ©
2 3 2 3 o S D13 L=150 @200
S 3 =2 oy
BRE))-F RC40 EBIF ko B+
Yo (C170) Yo — 18-8-25 (20) e S
st s [ mwaou—r | B P Re-40
T e E [ TermeEE
= ] [ =mpaRe40 |
= KA RO-40) |
540 =
430 640 110, 7\ 650 ,7. 450 ;
HEX (.0m (1.0s) HEX (.0m_(1.0%%) .
1.0m (1.
I S#-Ti B2 %8 [EE I E#-Ti HE | HE me E g A&Nmue :#Wcma
SERRYIN | 7A770b 1.00 | 59.56 | m RGN | 7A770b 100 966 m RE RV TR 10073.30 [ m
TAI7hb 0.45 26.80 | m2 TAI7hb 0.90 8.69 |m2 EET iz 0.60 | 1.98 [m2
WEMREL | R 017 ] 10.13 [m3 WEMREL | R 017 1.64 [m3 AENLYHL 0.17 | 0.56 [n3
RiEY 0.27] 16.08 [m3 RiEY 0.55| 531 m3 &g Y 0.51 | 1.68 [n3
BEL BERE 0.15| 893 |m3 BEL BERE 0.38| 3.67 [m3 BRL BERE 0.29 1 0.96 [m3
0+ C=170ke/m3B4R 004 238m T C=170ke/m3ms - ~ |m RiHE R6-40.t=10m [ 0.65 | 2.15 md
[ RI-30, t=11cm 0.40 | 23.82 [m R RW-30, t=11om 040 3.8 [m mchww M.ww N.Mw nw
B REHE, PK-3, t=3om| 0.40 | 23.82 |m2 R REHE, PK3, t=3om| 0.40 | 3.86 |m2 > .05 017 Tm3
_ ERER 1.00 [ 3.30 [m
(nf)  10m&Y (nf) _ 1omy HEX (1. OfAT) _ (1.02%) 5 F@) 1My BHT |S0345 013 620 120,46 | m
EE L 5.00[@] [EmaRmE 10.00[ & I &tk 32| B8 B4 EEvo L 8.29[@ BHT OG0B ER 075248 | n
ERERA 0.60 [m3 HERA 0.60 [m3 avyy—k | 18-8-25(20) &R | 0.18 0.36 | m3 HERA 0.64 [m3 %A RM=30, t=11cm 0.50 | 1.65 |m2
E@aosU—+F | 050(m| [E#I~su—r | 050]m3 BERE | 6+150¢150 182 3.64|m A@aHU—+ | 0.54[m % M [h#s PO thn [ 0.50 | 1.65 |m2
E&) 0.20 [m3| [E&BII- 0.20 [m3 Bl | )M 182 3.64|m TE882Y5)-F 0.20 [m3
S e Blass | @] B @ |RC-40, t=10cm 1.82] 364 |m S siess ||

BEMIERL - EIBT
$=1:20

P9.9~12.9 ns P33.1~36.4 P46.4~47.8
(BRiEL - €18) L/ (AR L) (BRiE L)

t=18cm t=18cm
8
t=10cm S
3.30
P33.1 P36.4 t=0cm t=0cm
P46 4 1.4 P47.8
3.00
P12.9
V=0. 17m3 V=0. 08m3
A=4. 50m2
V=0. 45m3
I% & |REISHREBHATE
TR 33
I ERI IEEIEES
SHMTEE R

7 K h AR 77 3 S A 2R B R




